Wednesday Maths

LO: | can find halves and
guarters of shapes, objects and
guantities.
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Rosie says the shaded part of the shape
does not show a half because there are
four parts, not two equal parts.
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Do you agree? Explain why. . O

[One half]
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Which is the odd one out?
Explain your answer.

Rosie says the shaded part of the shape
does not show a half because there are
four parts, not two equal parts.

Do you agree? Explain why.



Share 20 beanbags equally between two containers, then

complete the stem sentences. :

The whole is ___. Half of s

Circle half the cakes. Circle half the triangles.
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Fill in the blanks. Use counters to help you if needed.
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